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QUARTERLY EXAMINATION 2023

FloiassiX CHEMISTRY , Regiter s g
'+ TIME :3.00Hr. - o % - MAX.MARKS:70-‘
- ~ PART-I R
.- 1) Choose the Correct Answer " o ' . .45X1=15
1 Consndenng Ellmgham dragram,whlch of the following metals can be used to reduce alumina?
a)Fe . . byCu c)Mg d)zn . :
2. Match the items-in column 1 with the items of column-ll and assign the correct code .
' Column-1", o - Column-ll © | . A B C D.
A) Cyanide process ECTEE . B UItrapureGe Y (a) 2 3 1 4 -
. -B)Frothﬂoatationprocess-'_ " 2.DressingofZns - - (b) 4 2 1 -3
.- C) Electrolytic reduction-- - .". -3. Extractuon ofAu T (N B A S P
".. D)Zonerefining - ... 4.ExtractionofAl .- «{d) 37 ‘-4 1 2.
3. The geometry atwhlch Carbon atom in diamond are. bonded to each otheris :
" . a)Teterahedral .~ b) hexagonal .©) Octahedral d) none of these ‘
‘4. The formula for Hypomtrous acidis: . - o~ g
. a)HOONO '~ = " b)HNO, ... .\ ¢) NO 'j:- d)HNO'--.
. 5.. The most common oxidation state of actmoldg T o,
LA . - 7 _b)+#3 . ¢© d)+6‘

¢ . 6. Assertion: due, to Frenkel defect, denssty of the crystalllne solld decreases . .-
"~ Reason:In Frenkel defect catron and amon leaves the cryslal : .
-a) Both assertion and reason are true and reason is correct explanatlon of assertlon )
b) Both assertion and reason are true but reason is not the correct explanatton of assertlon
c) Assertlon is true but reason is false " d) Both assertlon and reason are false
. 7. The crystal with a metal deficiencey defect is ar ;
7 aNad _© . b)Feo .. o) Zno . d) Kel - oo
-2 1f 75% of a first order reaction was completed in 40 mmutes 50 % of the same reactlon under the
same conditions would be completed in, : "

a) 20 minutes -~ . . b) 30 minutes . c) 35 mlnutes - d)75 minutes .
9 “l'he addmon of a catalyst during a chemlcal reaction alters which of the followmg quantities?
a) Enthalpy " b)Activation energy c) Internal energy. d) Entropy
10. The P"of an aqueous solution is Zero the solutaon Is : :
.. a)neltral ‘ b) slightyly acidic c) Strongly actdlc d) ba_sic ‘
: ':;’, 11. If the solubility product of Lead iodide is 3.2 X 10%; its solubility will be- -
c.a)2X10°M . . b)4X10*M - -¢)1. ex105M ,d) 1. sx1o*’M
- 12.In Victor mayer test the secondary alcohol gives the colour Is o
a)Red - ° "YU b)Yellow © c) Green . d) Blue .
. 13. Which of the following compound can be used as antifreeze in automobile radlators? B
a) Ethylene glycol . b) Methanol ** . c)Ethanol d) Phenol
S 14 Wthh one of the following reaction ls an example of dlsproportionahon reactlon?. p
- .i?". i-a)Aldol condensation " | . b) Canmzaro reaction
. *..'.+c) Benzoin Condensation - + d) None of these T : :
i 15 Which one of the" followmg reducees tollens reagent .- :'-‘-"ui" Ee T e
@) Formicacid... .- b)Aceticacid  ¢) Benzophenone - d) None ofthese ©. Tt
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16. Which type of ores can be concentranted by froth ﬂoatatron method? Give two example for such ores

") A“swef any 6 Questlons (Q No.24 Is COmpulsory) s e TR

17. Write the anamolous Property of the first element of ‘P’ - block.
18, Why fluorine Is more reactive than other halogens? '

19, Define packing efficiency of crystals.

20. What is half life of a reaction ?

21. ldentify the conjugate acid - base pair of the followlng reactlon

) HS (o + HF = FTigy (aq)

22. Give short note on Dows Process

- 23. What is Urotrophine? Wrute the uses of urotrophlne

24 Which is more stable Fe® (or) Fe®' ? Explain. .

) PART - Il

m) Answer any 6 Questions (Q No.33 Is Compulsory)

25. What are the difference between minerals and Ore

26. Write the uses of Helium.

+H,S (i) HPO +so3 — PO "+ HSO,

S

© 6X3=18

. 27. Complete the equations. (i) HCOOH + H so - ? (u) H,8,0, —'—ed—h% ?

-28 Why transition elements forms complex compounds? : ’ i

. 30. Define rate law and rate constant.

31 Write the Rosenmund reductlon reactlon?

* 32, Write the dehydratmg reaction of Glycerol

33 Wrrte the expressron forthe solubrlrty product of Cay (PO )

- - PART - IV

lV)AnsweraIl the questrons‘ T e s -

34. a) Explarn Froth ﬂoatatron method wrth diagram IR A S
. W e - (OR) el TE

29. Write the difference between metal excess fect and metal deficiency defect

] .5X5=25

b) i) Wrrte the Oxrdatron state of halogens for the followrng compounds 1) OF 2) L 0 - (2)t

ii) Write the short note on bleachlng actlon of chlonne ,
35.a)i) Explain Structure of diborane, Pl e e
ii) Write a short note on Fisher tropsch Synthe5|s -
- - | : " (OR)- .
b) Compare Lanthanords and Actmords e g : S
36 a) i) To Calculate the number of atoms present in sc,beg, fcc unit cell
ii) Define: umt cell Write the seven type of unit cell. .
' . {OR) =,
b) Derrve mtegrated rate equatlons for Zero order reaction.
37 a)’i) Write Arrhenrus equatron and explaln the terms involved

L

h i) The rate conslant for a flrst order reactlon is 1.54 X10 S Calculate |ls half Ilfe tlme (3) ~'
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- (2).

. A '. (OR) L
b) Denve the express:on for Ostwald's dilution law. - : P -(5) N o
38 a) i) Write the coupling reaction of phenol R O PO @
e ) Explam three methods of preparatlon of etuher L . S (@),
,b) Wnte the mechamsm ofAldol condensation, - I S AR C) N
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